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General Aptitude Test / HHT] gﬁg’ RIEo7

Q1  Select the option that is related to the Ql 39 fAdhed &1 T I I RN Ug |
third term in the same way as the second I TRE T 7, RO UhR TH-T U
term is related to the first term: Ugel US W T B |
DART : XGLZ : : SPIN :? DART : XGLZ : : SPIN :?

(A) MVOT (A) MVOT
(B) YVCT (B) YVCT
(C) YICT (C) YICT

(D) MVCT (D) MVCT

Q2  Select the Venn diagram that correctly Q2 ¥9¥ I NG BT IIT HY ol - I
represents the classes given below. T A BT Al & | Uit swrar

gl

Wives, Lecturers, Working Mothers

UfTdT, ARATAT, BTHBTON HIATY

(A)
(B)
70 OO
0
O - (Q)
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Q3

Q4

Q5

In the diagram below, the triangle
represents American, the circle
represents singers and the rectangle
represents actors. Select the portion that
represents American singers who are also
actors.

(A) A
(B) E
€ D
(D) G

Select the correct water image of the
given characters.

MOTHERLAND

» WOLHEAJAUD
® ANVT43IHLON
o WOLHEBI'YUD

© QUAJAIHTOM

Select the term that is related to the third
term in the same way as the second term
1s related to the first term.

Cheerful : Morose : : Valiant :?

(A) Absurd
(B) Ideal
(C) Idle
(D) Coward

SERIES-KPB-A

Q3

Q4

Q5

A1 fag T e #, e smRan &t
gfafferea &rar &8, g Tdl Bl

yfafafee oxar 8 3R g =i
T YIS BT € | g8 T g Sl
T4 sR®Y TrIdl &1 gfafafeed HRar
2 O 3ifear o 2|

P i,

(E\A )

e \O/f

C
(A) A
(B) E
(C) D
(D) G
T AT T R B Fal STl Bfd BT
TIT BV |

MOTHERLAND

» WOLHEAJAUD
® ANVT43HLON
o WOLHEBI'YUD

® AUAJAITHTOM

9 fadhed &7 T B Sl TR 916G A
I GEN IR W HERd T
YpfeeTd © @l : : FBIGN : ?
(A) HeUer
(B) amest
(C) g
(D) PR
SET-01
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Q6

Q7

Q8

Q9

Select the term that is related to the third
term in the same way as the second term
1s related to the first term.

Amusing : Delightful : : Weary:?

(A) Overdressed
(B) Exhausted
(C) Greedy

(D) Anxious

Select the option that correctly fills in
the blank and completes the series.

ay, cw, eu, gs, iq, ko,

(A) nm
(B) mm
(C) mn
(D) nn

If all the letters appearing at the odd
number positions in the English alphabet
are removed, then what will come at the
9th place in the new alphabet series?
(A) Letter R

(B) Letter S

(C) Letter Q

(D) Letter P

Consider the following series of letters
and numbers.
ZBN#SMAL@2318nS$59nhfpWn$#l
12Ehal

What comes at the 5th position to the
right of the 15th character from the right?

(A) $
(B) W
(C) n
(D) #

SERIES-KPB-A

Q6

Q7

Q8

Q9

I Abcd BT TIT Y S IR I8
I IR IR W AT 2|

feeter ey © 3 eHy : :

(A) ARG TS H
(B) &1

(C) <et

(D) S®

IS - 7

39 fddwey &1 7= Y S Rad e
ORT Rl B |

ay, cw, eu, gs, iq, ko,

(A) nm
(B) mm
(C) mn
(D) nn

Jfe IS aoiaTar § faus Gvam =i
R fe@rE <9 drel 9l 3R ger feu
S 8, Ol S duiHell Sl | 9d
W TR DI AT J&R BRM?

(A) 3R R

(B) 3R S

(C) 38R Q

(D) 3R P

71 Q1eRT el F&mRll o S@el W
faR & -
ZBN#SMAL@2318nS$59nhfpWn$#l
12Ehal

T8 R I 159 3R P T8 3R 59
I YN T JYT?

(A) $
(B) W
(C) n
(D) #
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Q10

Q11

Ql12

Q13

Q14

In a certain language, if beast is coded
as bird, bird is coded as bike, bike is
coded as car, then which among the
following will definitely fly in the sky?
(A) Beast

(B) Bike

(C) Car

(D) Cannot be determined

Select the option that will fill in the blank
and complete the given series correctly.

100, 105, 111, 118, 126, 135,

(A) 147
(B) 144
(C) 146
(D) 145

Select the option that will fill in the blank
and complete the given series correctly.

3,9,27, 81, 243,729,

(A) 1458
(B) 1823
(C) 2187
(D) 2923

In the following series of letters, symbols
and numbers, what is the sum of the
count of symbols and the count of

vowels?

3H;ji%sdIAR3%7@8&vesQi9'kbZ82k2
@saneb3@iDwt#u

(A) 14
(B) 15
() 16
(D) 17

Find the missing figure from the given
series.

3,13, 1113, 3113,

(A) 331113
(B) 132113
(C) 131313
(D) 313311

SERIES-KPB-A

Q10

Q11

Ql12

Q13

Ql4

e R¥Ed e Wi H, i beast Bl
bird & w9 H FHedg fHaAT ST 8, bird
BT bike B ®T F Hedg fbar ST &,
bike BT car & wU H dcdg [BAT ST
g d 1 9 9 @ | Ff¥ed g |
MDY H I§ AHT 77?

(A) Beast

(B) Bike

(C) Car

(D) FeiRa 21 far S Fadn

9 fAheq &1 T B o Read =
@I gt IR S@eAT DI TR BT |

100, 105, 111, 118, 126, 135,

(A) 147

(B) 144

(C) 146
(D) 145

I fdmed &1 o BN Wl Read e+
DI giT B SGEAT BT GRT BT |

3,9,27,81, 243,729,

(A) 1458
(B) 1823
(C) 2187
(D) 2923

SIAT H, TlIbl DI HRAT 3R TRI B
AT BT AN AT 87

3Hji9%sdIAR3%7@8&vesQi9!kbZ82k2
@saneb3@iDwt#u

(A) 14
(B) 15
(C) 16
(D) 17

& TS el # I HEAT S B |
3,13, 1113, 3113,

(A) 331113
(B) 132113
(C) 131313
(D) 313311
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Q15 Find the analogous pair. Q15 HARY Sl ST & |

Annex : Lessening HTATHD : HH DYAT (Annex :
(A) Affix : ell Lessening)

(B) Jolly : back-slapping (A) e - ueT (Affix : ell)

(C) Festal : happy (B) 98+ : UIs guur=r (Jolly : back-
(D) Jocund : serious slapping)

(C) J|q : el (Festal : happy)
(D) Umfeetd : MR (Jocund : serious)

Q16 In a certain language, ADDICT is Q16 3FR Ud Mf¥=d de wNT § ADDICT
written as DDATCI. How will JAGUAR ®I DDATCI & Y # forar Sfrar & ar
be written? JAGUAR &1 &9 forr Sirgn?

(A) JUGAAR (A) JUGAAR
(B) GAJRAU (B) GAJRAU
(C) RAUGAJ (C) RAUGAJ
(D) AJUGRA (D) AJUGRA

Q17 Which figure depicts the relationship Q17 fy=faRad # & &9 w1 fom Ry 71g
between: vc] & I D Al HEe ST ©
Man, Ornithology, Profession A4, vell fas, e
(A) @) (A)
©) % © %

(D) @ (D) @

SERIES-KPB-A 7 SET-01
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Q18

Q19

Q20

Q21

In a certain code, JUG is coded as 38
and WATER is coded as 67. How will
GLASS be coded in the same code?
(A) 58

(B) 48

(C) 68

(D) 78

In a certain code, PICKLE is written as
793235 and FORTUNE is written as
6692355, then how will PERFUME be
written in the same code?

(A) 7596325

(B) 7596385

(C) 7596345

(D) 7595375

Select the number that is related to the
third term in the same way as the second
term is related to the first term.

401 :19::730 :?

(A) 28
(B) 22
(C) 27
(D) 26

Select the option that is related to the
third term in the same way as the first
term is related to the second term.

Barometer : Atmosphere : : Calorimeter : ?

(A) Calories
(B) Heat
(C) Sound
(D) Humidity

SERIES-KPB-A

Q18

Q19

Q20

Q21

& HfEd de H, JUG & 38 & U H
fedg Har A1 8 3R WATER &1 67
@ ®U H @edg fBar a8 1 GLASS
Bl IA B H DY Hede fhar Sme?
(A) 58
(B) 48
(C) 68
(D) 78

el ¥ e H, PICKLE &1 793235
% w9 # for@r ST § iR FORTUNE
Bl 6692355 % ®U # for@r e 7, ar
PERFUME &I I @ ¥ &9 forar
SITQT?

(A) 7596325

(B) 7596385

(C) 7596345

(D) 7595375

I GIT BT IIT BN S AR US 9
I RE HaRd 7, O UPR AT U
Ugdl US I GefRId B |

401 :19::730:?

(A) 28
(B) 22
(C) 27
(D) 26

S fdded &1 TF B AR e I
I YRSl ¥ W AT B

qRgETEAdl (dRIICR) © ArgFed : : b ?

(A) DR
(B) &
(C) ey
(D) 3

SET-01

Page - 8



Q22

Q23

Q24

In the figure given below, the triangle
represents married persons, the rectangle
represents employed persons and the
circle represents golf players. Select the
letter that represents unmarried,
employed persons who do NOT play

golf.

c
B \;

(A) F
(B) C
©) J
(D) E

o

Read the given statements and select
which of the conclusions given in the
options logically follows from the
statements.

Statements:

All apples are oranges.

All oranges are bananas.

(A) Some apples are not oranges.
(B) Some oranges are not bananas.
(C) All apple are bananas.

(D) All bananas are oranges.

Read the given statements and
conclusions carefully. Assuming that the
information in the statements is true,
even if they appear to be at variance with
commonly known facts, select which of
the conclusions logically follow(s) from
the statements beyond reasonable doubt.

Statement:
I.  All planets are stars.
II. All stars are moons.

Conclusion:

I.  Some stars are planets.

II. Some moons are planets.
(A) Only conclusion I follows.
(B) Only conclusion II follows.
(C) Neither conclusion follows.

(D) Both the conclusions follow.

SERIES-KPB-A

Q22

Q23

Q24

RIEACURIMEEE:!
P71 gfaffeE

Frfrog safdaal o1 ufafafic wwdr 2
ST Mo 81 Weold 2 |

kn

heq :
[ I U8 ar 2|
. 9 aR d<qr g |

fpy :

I $B aR UE 2|

II. $ d&AT T8 B |

(A) Taet PR 1 SIgaRoT B 2 |
(B) ®adl fshd I 3EROT vl 2 |
(C) ?’s‘ﬂﬂﬁﬂ%ﬁé TTARYT &I Bl

|
(D) ST frspy IR &R € |
SET-01
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Q25 Read the given statements and
conclusions carefully. Assuming that the
information in the statements is true,
even if they appear to be at variance with
commonly known facts, select which of
the conclusions logically follow(s) from
the statements beyond reasonable doubt.

Statement:
I.  All pets are birds.
II. Some birds are fishes.

Conclusion:

I.  Some fishes are pets.

II.  All birds are fishes.

(A) Only conclusion I follows.
(B) Only conclusion II follows.
(C) Neither conclusion follows.
(D) Both the conclusions follow.

Q26 Read the given statements and
conclusions carefully. Assuming that the
information in the statements is true,
even if they appear to be at variance with
commonly known facts, select which of
the conclusions logically follow(s) from

the statements beyond reasonable doubt.

Statement:
I.  Some chairs are beds.
II. No bed is a table.

Conclusion:

I.  Some tables are beds.

II. All beds are chairs.

(A) Only conclusion I follows.
(B) Neither conclusion follows.
(C) Only conclusion II follows.
(D) Both the conclusions follow.

SERIES-KPB-A
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Q25 fau Y werHl 3R frshul &l eaydd
U | JMUBT HAAT H T TS SITHBRT BT
AT HEET 8, Fel 81 J 94 S aedl |
Tl el BIT 81 3R 3T I8 a9+
AT & b D A1/ Fpy genfea
A W THETT Y H BT BT AFART
HAT 8 /B B |

B
I ) arerq uroft geft 2
. $o uflerl Asferdf €|

ey :

I. %5 9oferil drerg ol £ |

1. it uferdt #oferdt €|

(A) Sad frspd [ SERT HRal B |

(B) ®ael e 1 STER0T HRell 2 |

(C) &S Wt fFpd IFARYT &} e
=

(D) ST FTspy AR &R ¢ |

fay Mg Hort iR frepst @7 egdd
U | 3MYPT HAAT § & TS SIHBNT Bl
A HET §, Hel 8 J 94 S 7l |
T Tl BIT 8f 3R 3MUdT I8 a3+
AT & fb D A1/ Fpy genfea
A W THETT Y F BT BT AFART
BT & /B © |

Q26

hY :
I %8 HRia far 2
1. &8 Rk 39 =8F 2|

fr=py :

I $B o R 2

. a1 faeR HRiEr € |

(A) Sad fTsHy [ 3TERT el B |

(B) ®Ig I Iepy IR0 &l HRel
2|

(C) Hael e 11 STER0T HReT T |

(D) TFT FspY STFARYT &R ¢ |

SET-01
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Q27 In a code language, tomato is called
brinjal, brinjal is called radish, radish is
called cabbage and cabbage is called
okra. Which one of the following will
be the word for a vegetable that grows
underground?

(A) Cabbage
(B) Okra
(C) Brinjal
(D) Tomato

Q28 If the sign ‘X’ is interchanged with ‘+’

and ‘-’ is interchanged with ‘+’, then

what will be the value of the expression
below?

225 x15+3-7+1

(A) 56

(B) 53

(C) 55

(D) 51
Q29 If the sign ‘%’ is interchanged with ‘+’
and ‘-’ is interchanged with ‘+’, then
what will be the value of the expression
below?

136 x8+3-5+3

(A) 59

(B) 53

(©) 51

(D) 56
Q30 Martha said to Linda, “Your mother’s
father’s only son’s only sister is my
father’s wife.”

How is Linda related to Martha?

(A) Aunt

(B) Sister
(C) Cousin
(D) Niece

SERIES-KPB-A
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Q27 AT Te 9T #, tomato BT brinjal &
%Y H ST ST © | brinjal ®T radish &
®U H ST ST © | Radish T cabbage
T cabbage BT okra @ ®U H ST
ST & | STHIF & <1 Suoi drell Heofl
DI FIT Heil?

(A) Cabbage
(B) Okra
(C) Brinjal
(D) Tomato

IR e “x” &I+’ | gad faar SIrar
2 4T ‘=~ Bl “+ | §So foIr o g,
ar i T U IS &1 99 @ 27

Q28

225 x15+3-7+1

(A) 56
(B) 53
(C) 55
(D) 51

IR e “x* &I+’ gadl fear Sfrer
2 3R ‘— BT+ § geo faar o §,
ar s feu U @SH &1 AF feder
BITT?

136 x8+3-5+3

Q29

(A) 59
(B) 53
(C) 51
(D) 56

ARIT 7 fofsT 9 ®ar, “greR Al & fuar
P SHAld 9¢ B SHhldl g8 W fOdr
P T B

foter &1 At & T ddy 87

(A) =Tl

(B) 98

(C) TR /AR /B /R 8
KGN

Q30

SET-01
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Q31 Choose the figure that is different from

SIS

&

(A) (B) (C) (D) (E)

(A) C
(B) B
€ A
(D) D

Q32 Choose the figure that is different from

the rest.

5 4 1 3 3
1) alaX 2|2 5%;2
213 51 3|4 5 1

(A) (B) (C) (D) (E)

(A) C
(B) B
©) A
(D) E
Q33 On a farm, there are as many men as
oxen. There are twice as many hens as
there are men and three times as many
cows as oxen. The total head count is
14. What is the leg count of the cows?
(A) 32
(B) 24
(©) 16
(D) 8

SERIES-KPB-A
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Q31 9 o &1 999 &, S 91! | 37T

SSIR

(A) (B) (C) (D) (E)

A C
(B) B
©) A
(D) D

I o BT T B, S 9T A
STl B |

5 4 1 3 3
1) alaX 2|2 5%;2
213 51 3|4 5 1

(A) (B) (©) (D) (E)

Q32

(A) C
(B) B
© A
(D) E

Th B H RraT 9oy §, Sad & 9
g | fo7 gou &, S9a! g gRi §
IR foTae 91 €, S8 oI I T § |
B H Gt RRI @ d& 148 | Tt &
Ri o B F= fha g7

(A) 32

(B) 24

©) 16

(D) 8

Q33
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Q34 The pie diagram below shows the

Q35

investment made by a person in different
financial instruments. Study the diagram
and answer the question given below:

Distribution of Investment

Govt. Sectors
Mutral Funds 15%
15% Bonds
hares
15% .

Fixed Deposit
%

PPE

B Govt. Sectors ® Bonds ® Fixed Deposit @ PPF @ Shares W Mutral Funds

If the amount invested in Bonds is
38,000, then what is the amount invested
in Shares?

(A) 330,000

(B) 320,000

(C) 60,000

(D) 340,000

The bar diagram below shows the data
of the number of students (in thousands)
who cleared a competitive exam from
the year 2012 to the year 2016. Study
the diagram and answer the question
given below:

140 i
10
120
104
» 8
1]
a2
. 212 013 2014 015 2016

What is the percentage increase, from
2013 to 2014, in the number of students
who cleared the exam?

(A) 15.4%

(B) 18.2%

(C) 16%

(D) 17.3%

8

-

&

SERIES-KPB-A 13

Q34 =T 3 T/ UTS 31N Udh A AR
fafa= facha foradt & v v e
BT AT 8 | 3TNGB NI PN 3R
I T MY g B IR

Distribution of Investment

Govt. Sectors
Mutral Funds 15%
15% Bonds
Shares
15% .

Fixed Deposit

PPE
20% 3%

B Govt. Sectors ® Bonds ® Fixed Deposit @ PPF @ Shares W Mutral Funds

Ife gie | faer @1 78 fr 78,000 &,
ar IR A g @ e Al fean
Brfi?

(A) 730,000

(B) 320,000

(C) 60,000

(D) 40,000

H f3r AT R IR S BTl B
AT (BRI H) @ Tidrs ST &, oM
q9 20129 99 2016 T =it wrforaedt
&I ST PR <1l & | 3R T T
PN AR I AT T U FT IR <

s
10
i
L
6: I
012 2013 2014 2015 2016

2013 4 2014 TF UM IoT B
arel BTA @ W H ufoe gig @n
g7

(A) 15.4%

(B) 18.2%

(C) 16%

(D) 17.3%

Q35

]

®

&
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Q36 The bar diagram below shows the data

Q37

of the number of students (in thousands)
who cleared a competitive exam from
the year 2012 to the year 2016. Study
the diagram and answer the question

given below:

140

128
120
104
. ]
82 I
2 I
0
012 013 014 2015 2016

What is the total number of students who

g 2 B B

&

cleared the exam till 2014?
(A) 150
(B) 250
(C) 254
(D) 292

Hari, a printer, is printing a book. He
numbers the pages beginning with 1 and
uses 3,189 digits in all. Can you tell the
total number of pages in the book Hari
is printing?
(A) 1,022
(B) 1,074
(C) 1,043
(D) 1,062

SERIES-KPB-A
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Q36 I feam AT IR ARG $H BEI B

Q37

T (BRI H) & Alhg T2 &, S8
Y 20129 I 2016 T FRTATRIAT qRIe
DI YN TR o1 8| NG BT 3eFIT
P R A Ay U U F STR @

128
120
104
. ]
82 I
2 I
0
012 013 014 2015 2016

2014 TF TET Sl SR drel BT
@ fet e fohar 2?

(A) 150

(B) 250

(C) 254

(D) 292

2

]

z

&

&R Top febellg Hfed PR XeT &1 a8 19
IH IR TSI D G Afhd BT ©
R THT BT I 3,189 3l BT START
PRI © | RT3 BR gaRT Jfad fby
ST R YR<ib H qel Yol bl AT qall
AP 87
(A) 1,022
(B) 1,074
(C) 1,043
(D) 1,062

SET-01
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Q38

Q39

Q40

In the figure given below, the triangle
represents married persons, the rectangle
represents employed persons and the
circle represents golf players. Select the
letter that represents married persons
who play golf but are NOT employed.

E
c
B \;
& © D
(A) F
(B) J
©) C
D) G

What is the total number of rectangles
in the figure below?

(A) 65
(B) 64
(C) 84
(D) 86

From his fishpond, Niyaz went to the fish
market. First, he went straight towards
the north for 2 km and then turned right.
Thereafter, he walked straight for a
distance of 3 km and then turning left,
he walked 3 km to reach the fish market.
In which direction is Niyaz’s fishpond
located with respect to the fish market?
(A) North-east

(B) South-cast

(C) South-west

(D) North-west
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Q38

Q39

Q40

T fay v fom | e faarfRa
fdTA &1 Ui dRar ®, S
frnfora aafeat o1 ufafafaa oxar @
PRAT T B9 3R B TIT BN ol
Me® Wold arel 94 fdared aafdaar
o1 wfaffe sxar ® S a8t
2|

Navs

(A) F
(B) J
© C
D) G

A e ¢ o # ger st B e
et 27

(A) 65
(B) 64
(C) 84
(D) 86

ST 319+ HBell dTeld & ATl dToTR
AT | A TR, 98 WY 2 fHH SR
feem # 7 3R SWa 98 I I
S 96, 98 W 3 fed M eiR
IS 9% 9 IR I8 98dl doiR
de ugas & forg 3 fbdl =rerm | Hoell
IR & g H 75T BT 78 dTelTd
foor faem & Rera 87

(A) Scv—gd

(B) sfero—qd

(C) cferor—uf=

(D) ScTR—U¥TH
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Q41

Q42

From his fishpond, Niyaz went to the fish
market. First, he went straight towards
the north for 2 km and then turned right.
Thereafter, he walked for a distance of
3 km straight and then turning left, he
walked 2 km to reach the fish market.
What is the shortest distance between
Niyaz’s fishpond and the fish market?
(A) 5.5km

(B) 4.5km

(C) Skm

(D) 3.5km

Consider the given statement and decide
which of the assumptions given in the

options is implicit in the statement.

Statement:

The winning team deservingly celebrated

all night by dancing and indulging in tasty

food.

(A) When ateam wins, the host country
throws a party in their honour.

(B) When a team wins, the sports
ministry of their country throws a
party in their honour.

(C) Dancing and indulging in food is
one of the ways to celebrate.

(D) Cricket players are always looking
forward to winning a match so that

they can celebrate in style.
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Q41

Q42

TSt 31U Aol AT & ATl aIoTR
T | FH UgCl, 98 WY 2 fhHl SaR
foem & 7 QiR S g I S|
IAD 9%, 98 WY 3 e T QiR
IS 916 91§ SHR 98 ASall dolR
qd uga & forq 2 f& =er | s
P Tl dTelld 3R A%l IOk @ 4
I BICT A R®IT 87

(A) 5.5km

(B) 4.5km

(C) 5km

(D) 3.5 km

AT 77 FeM W AR & &R i o
o fameai # <) 7 B9 AT IRT HUH
# ofafifed 2|

BT

fasrar <9 7 I &R @i HWior #

IS 8 B T WR 3T w9 o

HATAT |

(A) ST9 U% & Siid STl 8, Aotd
< 1D A | U UTST <l B |

(B) T4 U SF Sfid STl &, df S9Id
T BT WA HATT SHD THA H
Th UIel <l 2 |

(C) T AT AR Ao # wnfiret g
ST A & TRIDl H A TP B |

(D) fohpe REATS! BH U HA SicA
® IRNE P © Alldh d AFAR
T ST A 9D |
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Q43 Given below is a statement, followed
by two arguments numbered I and II.
Assuming that the information
provided in the statement and the
arguments is correct (even if it appears
to be at variance with
commonly known facts), select the
argument that is ‘strong’ with respect to
the statement given.

Statement:

Should the minister distribute free
laptops to underprivileged students
who have dropped out of school?

Argument:

I.  Yes. The school dropouts have no
other source of entertainment. The
laptops will keep them busy.

II. No. The minister can use the money
to provide continued education and
vocational training to the school
dropouts so that they can earn a
livelihood.

(A) Only argument I is strong.

(B) Only argument II is strong.

(C) Neither argument I nor argument II
is strong.

(D) Both the arguments are strong.

Q44 Given below is a statement, followed by
two arguments numbered I and II.
Assuming that the information provided
in the statement and the arguments is
correct (even if it appears to be at
variance with commonly known facts),
select the statement that is ‘strong’ with
respect to the statement.

Statement:
Should the government disallow eating
and drinking at all beaches?

Argument:

I.  Yes. People have been dumping
plastic waste and other leftovers on
beaches and have dirtied them a lot.

II. No. The leftover food is very crucial
for the survival of sea creatures.

(A) Only argument I is strong.

(B) Only argument II is strong.

(C) Neither argument I nor argument II
is strong.

(D) Both the arguments are strong.
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Q43

Q44

:
3
ki
1
£
-
]

TG UfRETOT UaTH B &
U R Iod 8 d1fd I 3o
GG/ B,

(A) [ #oTqd 2 |

(B) ®adl d@ I #oGd 2 |

(C)ga‘raaéleﬁvfé‘raaénwaﬁ
|

(D) SHI T Hold ¥ |

.
).
QU Y P & ey H AT b Bl
T N |

HUA :

T TRAR BT T del R @@=
IR 99 R ufdse =T @nfee?
dod :

: kel
R & ol g8 Hewyol 2 |
(A) T qH 1 ¥91Gd B |
(B) ®dal A 1l Aol B |
(C) 9 @1 & IR 7 & da Il Aclqd
=
(D) T I Aol € |
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Q45 Mahathir is Najma’s husband. Najma’s
son, Kamran’s wife Reshma has a son
named Ashraf. Ashraf’s only sister is
Urja. How is Mahathir related to Urja?
(A) Father
(B) Grandfather
(C) Cousin
(D) Uncle

Q46 Showing a photograph of a girl,
Prateek said, “This is Gunjan. She is
my father’s mother-in-law’s husband’s
only daughter’s daughter.”

How is Gunjan related to Prateek?
(A) Mother
(B) Sister
(C) Daughter
(D) Niece
Q47 Read the given question and decide

which of the following options is
required to answer the question?

Question:

Lucy is standing in the immigration

queue. How many people are there in

the queue?

(A) 15 persons are standing before
Lucy.

(B) Lucy is standing exactly in the
middle of the queue.

(C) Eightpersons are standing ahead of
Lucy and 11 persons are standing
behind the person standing just
ahead of Lucy in the queue.

(D) Eleven persons are standing ahead
of Lucy and 9 persons are standing
ahead of the person standing just
ahead of Lucy in the queue.
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Q45 #EIRR doT & ufd €| 999 & T,
HTART DI T XIHT BT IeRG AT
BT U 9T & | IIRB Bl Shalldl g8
Ioil 2| "EIPR SOl ¥ fod wu #
e |7

(A) foar
(B) &TaT
(C) ToRT/ HHRT /AT 918
(D) =rar
Q46 U BICHTH I {3 8T Uil dleTl,
"8 o & | 98 W fUdr & 9 & ufd
@ Y A T BT 9T 21
ST &1 Udhies & a7 Hae 22
(A) i
(B) 9
(C) 91
(D) *efTS]
Q47 few U ued @1 yg &R favim o fF

U3 BT SR o & forv famferRaa #
3 fb fAdeut @1 maIHar 87

I :

A 3MIATT HaR H W B | BAR H

o T 87

(A) T 9 MW 15 AN Ee B |

(B) Il BaR & Aok 4 H @l
2 |

(C) = ¥ 3T 38 AT & ¥ 3R
AR H W AT TR Afdd &
S 11 AT @S 2|

(D) T | M RE AT TS & IR
9 AT HAR H R & T T
e 3 T WS T |
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Q48 Read the given question and decide
which of the following options is

required to answer the question.

Question:
Piyush bought 7 dozen apples and 3
dozen oranges. How much did he spend
inall?
(A) Oranges are more expensive than
apples by 5.
(B) Each apple costs I4 and each
orange costs slightly less than that.
(C) The cost of each orange is I4.5 and
each apple costs 7.
(D) The ratio between the cost of apple
and orange is 3:4.
Q49 In arace, Gary ran faster than Jai. Neil
ran faster than Jai. Sam ran slower than
Gary. Who came first in the race?
(A) Cannot be determined
(B) Jai
(C) Gary
(D) Niel
Q50 Theratio of the ages of a child, his father
and grandfatheris 1 : 5 : 9. Three years
hence, the child will be 10 years old.
What is the present age of the
grandfather?
(A) 72 years
(B) 63 years
(C) 56 years
(D) 78 years
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Q48 feU 7T yo & 9g R vl of b
U BT Ik o & foru fAmfaRaa &
I b fApeut & amazasdr 27

I+ :

Iy 9 7 359 99 iR 3 ol |

RIS | IAT Gl fhar @ far?

(A) AR 9 ¥ T5 31 7L € |

(B) UAd I Bl NI T4 B 3R UADh
AR P ARTT S ATST HH © |

(C) IS HaR & AT T4.5 8 3R
YIS A B ARTT I7 E |

(D) 9 AR HR Bl AN & S ST
3:4%

TP Trs § I S A I SIS | 51 d
JorT ¥ it Aot ST | A9 IR 9 9Rf
Ty | <eT| e H B YUH IT?
(A) feiRa T8l far S adan

(B) v&

(©) M

(D) et

Q49

TP g, S fUdr 3R STeT & SH 6T
U 1:5:9 % | 3 A I Al de,
gl 10 \HTel hl NI | Tl El% Cl('i"”"l
SH T 87
(A) 72 99
(B) 63 a4
(C) 569
(D) 78 a4

Q50

SET-01

Page - 19



Q51

Q52

Q53

Q54

Q55

Q56

General Knowledge / HTHTRY =114

Name the Google computer program
that defeated a professional GO player.
(A) C25K

(B) AlphaGo

(C) Odikyo

(D) Blue

How many Lok Sabha constituencies are
present in Uttar Pradesh?

(A) 64

(B) 75

(C) 80

(D) 70

The high yield variety seeds Sonalika and
Kalyan Sona belong to which crop?
(A) Barley

(B) Rice

(C) Wheat

(D) Maize

With which of the following sports are
the terms ‘Serve’ and ‘Volley’associated?
(A) Tennis

(B) Volleyball

(C) Table tennis

(D) Squash

Where is the Ramakrishna Mission
headquartered?

(A) Mumbai

(B) Chennai

(C) Belur Math

(D) Kumbakonam

Who was the first ruler of the Pala
dynasty?

(A) Devapala

(B) Rampala

(C) Gopala

(D) Mahipala
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U YR GO RISl &l &M drel
el YN YITE BT A IdgU |
(A) C25K

(B) AlphaGo

(C) Odikyo

(D) Blue

IR Yo H g [bad A | e
g7

(A) 64

(B) 75

(C) 80

(D) 70

S USTaR arel §197 &Y foo Aot
AR HT AT 59 vad 9 Hdfed
g7

(A) St

(B) =raet

©) 7§

(D) HaahT

| 3R el U= (59 W I IS &7
(A) <

(B) dfeildral

(C) < <f=a

(D) hdier

MGWT e b1 JEe wul Rerd
87

(A) 5%

(B) =g

(C) deR 7S

(D) HHBIH

Ul 991 BT gl ATAD i+ AT?
(A) TauTed
(B) XmHUTT
(C) Tt
(D) HEATA
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Q57

Q58

Q59

Q60

Q61

Q62

The total number of crops covered
under the Government of India’s
Minimum Support Price (MSP) is:

(A) 20

(B) 22

(C) 24

(D) 18

Pusa Hybrid 4 is a hybrid variety of:
(A) Potato

(B) Tomato

(C) Banana

(D) Papaya

Which was the first Indian state to set
up a ‘Special Agriculture Zone’?

(A) Tamil Nadu

(B) Punjab

(C) Uttarakhand

(D) Gujarat

Who was the first Indian woman to
become a chess Grandmaster?

(A) Arti Ramaswamy

(B) Humpy Koneru

(C) S Vijayalakshmi

(D) Krutika Nadig

In which year did the first Danish East
India company start its operations?
(A) 1616

(B) 1650

(C) 1630

(D) 1670

In India, 30th January is celebrated as:
(A) Father’s Day

(B) Martyr’s Day

(C) Teacher’s Day

(D) Mother’s Day
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Q57

Q58

Q59

Q60

Q61

Q62

IRA WHR & gAdH FALH g &
3T favaeil W¥et TS @1 Sl 87
(A) 20
(B) 22
(C) 24
(D) 18

T BIEfS 4 fdvaa dAdH) gonfa 27
(A) 3ire]
(B) THIER
(C) el
(D) gdIar

I S &5 w@nfid R arelr uga
IR TS DI oAT?

(A) dffrerg

(B) UoTa

(C) SNIES

(D) JorRid

RS B TS AREY BF drell Ugel!
IR Al diF ofi?

(A) IR AR

(B) Nl &%

(C) T, fasraraes

(D) pfcrepT =TT

Ugell SHET %€ AT BUR 7 37Ul
gRererd fhd oy # g% fdhar?

(A) 1616

(B) 1650

(C) 1630

(D) 1670

AR H, 30 S BT fb faad & wu
H H91IT ST 87

(A) faq s

(B) welg faaw

(C) Rersd feaw

(D) Arq feaw
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Q63

Qo4

Q65

Q66

Q67

Q68

Which of the following places is famous
for Madhubani art?

(A) Tanjore

(B) Mithila

(C) Hyderabad

(D) Bhubaneswar

In which year was the first Economic
Census carried out in India?

(A) 1977

(B) 1975

(C) 1980

(D) 1965

Name the Indian lady who headed
Pepsico from 2006 to 2018.

(A) Shikha Sharma

(B) Indra Nooyi

(C) Vinita Bali

(D) Chanda Kochhar

Which of'the following protocols is used
to receive email?

(A) SMTP

(B) HTTP

(C) FTP

(D) POP3

In which year did Uttar Pradesh’s first
Chief Minister, Govind Ballabh Pant,
receive the Bharat Ratna?

(A) 1955

(B) 1960

(C) 1957

(D) 1961

The inter-agency setup by G-20 nations

to enhance food market transparency is

called:

(A) Agricultural Market Information
System

(B) Agricultural Market Information
Service

(C) Agricultural Merchant Information
System

(D) Agricultural Merchant Information
Service
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Q63

Qo4

Q65

Q66

Q67

Q68
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AYTl Hell bl URTg o7
(A) TR

(B) faferem

(C) TSR

(D) YT

TR § ugel Mfded SoHT fhe gy
@ g7
(A) 1977
(B) 1975
(C) 1980
(D) 1965

2006-2018 T USTRT B 3NeTel Vg
qrell YR AfgedT &1 A 9ad18y |
(A) RBrar s

(B) sfe—r

(C) fafsar qret

(D) &l PR

IS UTWT HRA & folU HI=AT UIeThid
JUIRT F 7T 87

(A) SMTP

(B) HTTP

(C) FTP

(D) POP3

SR ST & Ugel GEHAT, Mide geer
Ud Bl fbd 99 qRT YT W GG
fpar ar?
(A) 1955
(B) 1960
(C) 1957
(D) 1961

Qe IR &1 YRERIAT g & forg
G-20 T TART JR—UoTdT Il Pl
FIT HET AT &7

(A) DY TSR T Yorrel!

(B) P IIoTR I el

(C) PN ATUYRT F=T YoTTett

(D) SN AR =T HaT
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Q69

Q70

Q71

Q72

Q73

Q74

In which district of Uttar Pradesh is
Chandra Prabha wildlife sanctuary
located?

(A) Agra

(B) Chandauli

(C) Unnao

(D) Meerut

Name the first female Olympic medal
winner from India.

(A) PV Sindhu

(B) Saina Nehwal

(C) Mary Kom

(D) Karnam Malleswari

‘The Story of My Experiments with
Truth’ was written by:

(A) Manilal Gandhi

(B) Gopalakrishna Gandhi

(C) Devdas Gandhi

(D) Mohandas K Gandhi

In which state is the Paithan Hydro-
electric project located?

(A) Tamil Nadu

(B) Gujarat

(C) Andhra Pradesh

(D) Mabharashtra

Name the highest peak in Kerala.
(A) Agastya

(B) Chembara

(C) Anamudi

(D) Banasura

Who is known as the Picasso of India?
(A) Magbool Fida Husain

(B) Muhammed Fida Husain

(C) Magbool Fazal Husain

(D) Muhammed Fazal Husain
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T YHT IS IMIRIY IR I B
for 7er & Rerg 87

(A) M1

(B) dglel

(C) I~1q

(D) kg

HRA &I Ygell Azl 3MelfUed Radrd
fasTdar &1 9 918y |

(A) A1 Ay

(B) TS HgdTel

(C) ¥ ®H

(D) HUH Heolga!

‘The Story of My Experiments with

Truth® & oGP HIF B2
(A) AUt Tl

(B) TUTAHT el
(C) <acra el

(D) HIE-e @. el

Yo Sta—fagga aRarerT fw s #
Rera &7

(A) dffrerg

(B) ToRIA

(C) 3TieT g

(D) HERTY

IR § Rerd Faied yda acl &1 9
ERIEINE

(A) 3MTETT

(B) e

(C) 3

(D) &RIXT

qRT & el & dR R Bd S0
ST 87

(A) D fbar g

(B) &7a foar géi

(C) AP BTl B

(D) 8H& Hold g4+
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Q75

Q76

Q77

Q78

Q79

Q80

If all three interior angles of a triangle
are less than 90°, it is called a/an:

(A) Isosceles triangle

(B) Right triangle

(C) Obtuse triangle

(D) Acute triangle

Which of'the following is an example of
a total root parasite?

(A) Orobanche

(B) Cuscuta

(C) Loranthus

(D) Cyprus

is a synthetic auxin.
(A) CAM
(B) IBA
(©) 1AA
(D) NAA

Identify the disease caused by
Mycoplasma.

(A) Little leaf of brinjal

(B) Banana bunchy top

(C) Yellow vein mosaic

(D) Sterility mosaic

Which of the following pre-emergence
herbicides is recommended for Maize?
(A) Atrazine

(B) 2,4-D

(C) Paraquat

(D) Glyphosate

Central Institute for Cotton Research
(CICR) is located in:

(A) Hyderabad

(B) Nagpur

(C) Haryana

(D) Punjab
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IS T RSl & Tl 3 3fdRe Bior
90 St & &9 =i, A1 I8 T FHEaal
¥

(A) wegfaarg Brye

(B) wr#ehIvT f3rgst

(C) TfrpIor Byt

(D) ~gApToT gt

=1 # 9 DI A1 qUid: ST UReld! &l
T IETERT 57

(A) 3IRI§T (Orobanche)

(B) 3TReel (Cuscuta)

(C) @R (Loranthus)

(D) |94 (Cyprus)

T Rigfed it 21
(A) HIUTH (CAM)
(B) 3MEHIT. (IBA)
(C) M. (IAA)
(D) TA.UT. (NAA)

S HIISHT & BIROT B drell STHRT
TaT @ |

(A) T BT BICT Ucdl

(B) &l &I BER AN

(C) Urell =<9 drell Aid

(D) 3aRHAT i (Sterility mosaic)

Aadh & fold ST | U8l SRS B
& forg F=faRad # 9 f5a JomTers
(EdTTES) @1 RIBIRe @1 18 &7

(A) 3rgToN

(B) 2,4 -3

(C) WRraare

(D) TATSHIIE

R HURT ST AT Pal Rerd
27

(A) BERETG

(B) YR

(C) &Ram
(D) goirg
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Q81

Q82

Q83

Q84

Q85

Q86

Fruit cracking is due to the deficiency
of:

(A) Iron

(B) Boron

(C) Potash

(D) Zinc

Identify the stem nodulating legume.
(A) Crotalaria juncea

(B) Sesbania aculeate

(C) Phaseolus trilobus

(D) Medicago sativa

Canker disease in citrus fruits is caused
by:

(A) Fungi

(B) Mycoplasma

(C) Bacteria

(D) Virus

The ‘Grow More Food’ campaign was
launched in the year:

(A) 1954

(B) 1948

(C) 1946

(D) 1952

The process of preserving organelles,
cells and tissues at -196 °C in liquid
nitrogen is called:

(A) vitrification

(B) cryo preservation

(C) tissue culture

(D) gene therapy

In potatoes, black heart is caused by:
(A) lack of CO, in storage

(B) lack of light in storage

(C) lack of O, in storage

(D) deficiency of Boron
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(A) I8

(B) 9RIF

(C) drerer
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frg—der (A18gd) H dax I s
TART Herdl &7

(A) BRI

(B) HIgPIITSHT

(C) JaRar
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3R 3 USRI ST foosy af #
URH fdar ar?
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(D) 1952

IR ASSIST H -196 °C 4R 31,
BT UfshAT BT FAT HET ST =7

(A) HIATHROT

(B) 1T ARET

(C) Swd Fae

(D) SIH R

3] H =i & A PHROT Bl 27
(A) WSRO # CO,dT HH
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(C) WSRT # O, B4l

(D) IRIF DI HH
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Q87

Q88

Q89

Q90

Q91

Q92

The weed Phalaris minor belongs to the
family:

(A) Graminaceae

(B) Fabaceae

(C) Malvaceae

(D) Cruciferaceae

The Destructive Insects and Pests Act
came into force in the year:

(A) 1914

(B) 1905

(C) 1919

(D) 1915

International Rice Research Institute
(IRRI) is located in:

(A) Nairobi

(B) Hyderabad

(C) Ethiopia

(D) Manila

Who among the following is known as
the ‘Father of Statistics’?

(A) R.A. Fischer

(B) Pearson

(C) Boddington

(D) A.L. Bowley

Which of the following is an example of

monopsony?

(A) Indian Railways

(B) Organization of the Petroleum
Exporting Countries (OPEC)

(C) Retail Trade

(D) Tea Board

If the rate of application is 3.0 kg of
insecticides per hectare, the quantity of
simazine (80% WP) required to be
sprayed over a 0.4 hectare area would
be:

(A) 1.0 kg

(B) 2.0 kg

(C) 1.5kg

(D) 0.75 kg
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(A) IR, T. 3R

(B) o=

(C) qifSeq

(D) U.Ud. dfell

fr=faRaa 5 9 D9 A1 Bar TeEEeER

BT TH SGTENT 87

(A) YRAT X

(B) Ugiferad fafde <2l &1 |iTed
(OPEC)

(C) GaxT AR

OEIREIS

Ife IUANT / ST BT &R UfY Baear
3.0 kg DICARG &, Al 0.4 SRR H

frgda o & forg R (80% Sy,
qL) @1 fhasil JT @Y MavIHhar BE?
(A) 1.0 kg
(B) 2.0 kg
(€) 1.5kg
(D) 0.75 kg
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Q93

Q94

Q95

Q96

Heroine, one of the major chemicals
responsible for drug abuse, is obtained
from:

(A) Datura

(B) Poppy

(C) Periwinkle

(D) Hemp

Calculate the spray fluid concentration
when 1.5 1 of monocrotophos 36 SC is
applied over 2 hectare of chilli crop by
making 1000 1 of spray fluid.

(A) 0.01%

(B) 0.05%

(C) 0.04%

(D) 0.03%

In case of sugarcane, the planting

material is obtained from:

(A) bottom one-third portion of the
cane

(B) top one-third portion of the cane

(C) middle one-third portion of the cane

(D) lateral shoots

Stem application in cotton is followed
for the management of:

(A) borers

(B) boll worms

(C) sucking insects

(D) root feeders
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Q93 BRI I el aRll & FHUANT b
foy RFeR ugE Al 3 9 U@ ©
71 # 9 e a8l 2
(A) T
(B) O
(C) Wifdwer
(D) AT

fssdra fory ST arel <a @) Afgar B
T B G 1.5 1 AFAPICH 36
TAL BT 1000 1 fESHIT BT GG 1D
2 gaCIR A & wad § SuAnT fan
ST B |

(A) 0.01%

(B) 0.05%

(C) 0.04%

(D) 0.03%

Q94

T @ Al H 9T AT wEl A T
BT &7

(A) T BT et 1/3 91T

(B) =1 &I HURI 1/3 91T

(C) T BT 74 1/3 ¥

(D) UTed B Bfordl

Q95

HU H TCH BT ST 4 # 9 fhaa
gde & fog fvar Smar 2?

(A) B%h

(B) dfaT a9

(C) THP HIe

(D) T B

Q96
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Q97 The per hectare seed rate of tobacco is: Q97 dTaTd B U oI A9l T T 77

(A) 1-2 kg (A) 1-2 kg
(B) 6-7 kg (B) 6-7 kg
(C) 3-5kg (C) 3-5kg
(D) 7-8 kg (D) 7-8 kg
Q98 Parthenium can be controlled by using Q98 URIIH BT DA WG Yol BT STAN]
bio-agents like: R T fear S asar 82
(A) Cactoblastis cactorum (A) DaCICIRTH HICTRHA
(B) Ophiomyia lantanae (B) 3NHAMATSIT el
(C) Solvenia molesta (C) ATcafar HrereT
(D) Zygogramma bicolorata (D) SIS fddbIdARTeT
Q99  istheirrigation method suitable Q99 ERGER A 3R el g @
for undulating lands and sandy soils. s @ fofg Sugaa Al 7|
(A) Border strip (A) 91 Ugl
(B) Sprinkler (B) BIaRT
(C) Check basin (C) #s§al (Check basin)
(D) Furrow method (D) =Tell fafer
Q100 Which of'the following hormones is used Q100 g M BT STAN SRBING? P TU
as a herbicide? H foar Smar 272
(A) Auxin (A) AT
(B) Cytokinin (B) Mg
(©) 2,4-D (C) 2,43
(D) Abscisic acid (D) Ui RS
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Q101

General Science & Arithmetic / AT fIsI9 G2 3fHToG

For what was Albert Einstein awarded
Nobel Prize?

(A) Laws of Photoelectric Effect

(B) Laws of Magnetism

(C) Theory of Relativity

(D) Theory of Gravitation

Q102 Which among the following are present

Q103

Q104

Q105

in higher amount in hard water?
(A) Calcium and Magnesium
(B) Calcium and Potassium
(C) Potassium and Magnesium
(D) Sodium and Calcium

Which among the following term refers
to the commercial rearing of silkworms?
(A) Vericulture

(B) Sericulture

(C) Liticulture

(D) Pisciculture

is a simple device that is used
to either break an electric circuit or
complete it.
(A) Transistor
(B) Fuse
(C) Resistor
(D) Switch

Which among the following nutrients is
essential for the normal functioning of
the thyroid gland?

(A) Sodium

(B) Calcium

(C) Iodine

(D) Potassium
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Q101 3Tcee M B fhad forw Aa

qREBR A I fBar T or?
(A) BICifdgd 9@ & faH
(B) goed friam

(C) wmverar Rigia

(D) Tyl Ragia

Q102 f=ferRad # & &9 A1 HoR U=l H

aiferes AT # AR 77
(A) dferrad iR FIRRH
(B) dfeerad iR R
(C) UrefRr™ iR #+=fraH
(D) AIf$TH 3R dfcerad

Q103 f=ferRad # & o9 A1 7€ W B

Prs B IS Ul Bl Fafid HRar
27

(A) NP

(B) R&eer

(C) ferdimear

(D) URiIheaR

T ARIRYT SUBRYT B, FSTehT
SN Selfdgd Afdhe &I fafra &=
AT 3 R A & forg fmar S 2
(A) gifSTex
(B) 9
(C) uRtR®er®d
(D) Ra=

Q105 URRTSS Uiy & AT BHBTS B forv

frafaRed dve d@i § 9 B9 AT
AT DH 57
(A) ArfsTH
(B) dfezrad
(C) 3mIreH
(D) UrefRr
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Q106 What is the minimum distance one has
to stand at from a wall to hear an echo?
(A) 94m
(B) 17.2m
(C) 17.2 cm
(D) 9.4 cm
Q107 Chromosomes are affected in
Turner syndrome.
(A) 14
(B) 28
(©) 34
(D) 45

Q108 On the basis of which phenomenon does
a Jet Engine work?
(A) Conservation of velocity
(B) Conservation of linear momentum
(C) Conservation of acceleration
(D) Conservation of circular
momentum

Q109 Motion that repeats itself after some
period oftime, is called motion.

(A) rectilinear

(B) periodic

(C) uniform

(D) non-uniform

QI10 Which among the following is
necessarily present in an alloy for it to
be referred as ‘Amalgam’?

(A) Silver
(B) Cobalt
(C) Nickel
(D) Mercury

______ is the SI unit of dynamic
viscosity.

(A) Newton per metre

(B) Pascal second

(C) Newton per metre square

(D) Pascal metre
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Q106 EaR | Us Ufcrd™ G- & forg =g
0 @ B?

(A) 9.4m

(B) 17.2m

(C) 17.2cm

(D) 9.4 cm

Q107 PG <R RigH # wrfad

BId 3 |

(A) 14

(B) 28

(C) 34

(D) 45

Q108 S 39 fhd Tl & MR TR HH
PRar 27
(A) I BT G
(B) XRaw 7y &1 F=eTor
(C) NUT T HRETT
(D) gid TRT DT EREAIT

Q109 T AT HB THT & I1K Y& BT QrawIl
g, S9 T BT AT B
(A) Srer
(B) 3rmaftr®
(C) UHaH
(D) IR—THHHAA

Q110 URE—ASTOT AT ‘IHATH' HEA™ & forg
ey firsr erg # fforRed & & fad
BT BFT SMATTH 87
(A) =<t
(B) PIdTee
(C) Maat
(D) URT

Tferefier e @1 SISPE 2|
(A) T Ui Hiex

(B) UR®d ADS

(C) e ufty #iex o

(D) URBd HIex

Qll11
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Q112 Which among the following is produced

using ‘Haber Process’?
(A) Ammonia

(B) Carbon dioxide
(C) Sulphur dioxide
(D) Ozone

Q113 When the heavier component in a
mixture settles after water is added to
it, the process is called
(A) yarning
(B) sieving
(C) sedimentation
(D) threshing

Q114 Shadows are formed when a/an

object comes in the path of light.
(A) transparent

(B) translucent

(C) luminous

(D) opaque

QI15 A 1is a passive two-terminal
electrical component that implements
electrical resistance as a circuit element.
(A) resistor
(B) diode
(C) transistor
(D) capacitor

Q116 What is a fertiliser that supplies two or
more than two primary nutrients called?
(A) Straight fertiliser
(B) Organic manure
(C) Green manure
(D) Complex fertiliser

Q117 A day is considered a rainy day when it
receives a rainfall of:
(A) 3.0mm
(B) 2.0mm
(C) 2.5mm
(D) 12.5mm
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Q112 f=fRad & & B AT ‘BaR U BT
IYIRT D IcATad [HAT ST 57
(A) 3T
(B) BTE SRS
(C) FeHR SIS S
(D) 3=

Q113 919 U™l e & 9 fAstor § vy
fcdh A Adg R 96 oIl ©, df 39
gfehar & Pl ST 2 |
(A) i
(B) BT
(C) ST
(D) drs (SR

Q114 UHT & U H Udh
A TR BT BT 0T B 2
(A) TR
(B) URHTAT
(C) YT
(D) SRt

] B

QS TH o Piftea a1 el @
fagga aca 3, 1 Afdbe @Rue) @
& wU # fagyga UfRRT S R 2 |
INRIGRCED
(B) SHIS
(C) TIfoTeeR
(D) e

Q116 VT SRS ST & JT a1 | NS wrrfiad
UINd el ol AMYfd BT 7, I8 a1
BHEATT B°
(A) IRl SRB
(B) Sifdw @rg
(C) & @l
(D) A3 SR®

Q117 39 fas1 @1 a9t fes w1 Sfrar ® o
fa= a9l BT & |
(A) 3.0mm
(B) 2.0mm
(C) 2.5mm
(D) 12.5mm
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Q118 Weight of one cotton bale is:
(A) 190 kg
(B) 180 kg
(C) 186 kg
(D) 182 kg

Q119 What is the percentage of nitrogen
present in farm yard manure (FYM) in
general?

(A) 0.5
(B) 0.6
(C) 0.8
(D) 0.7

Q120 The interaction between the alleles of
two or more loci is known as:
(A) epidemiology
(B) epiphytosis
(C) epistasis
(D) dominant

Q121 Division of Agricultural Meteorology at
Pune was established in:
(A) 1932
(B) 1930
(C) 1905
(D) 1924

Q122 The book ‘Fungi and Plant Diseases’ was
written by:
(A) Dr KC Mehta
(B) Dr BB Mundukur
(C) Dr EJ Butler
(D) Dr JF Dastur

Q123 The blood sugar of an insect is:
(A) glucose
(B) mannitol
(C) trehalose
(D) mannose

SERIES-KPB-A 32

Q118 g P TH TS BT aoi &
(A) 190 kg
(B) 180 kg
(C) 186 kg
(D) 182 kg

Q119 AT w9 | B ITS T
(Uw.ara.qH,) # AINE ASgo &1 ufaera
R 27
(A) 0.5
(B) 0.6
(C) 0.8
(D) 0.7

Q120 T AT BT 9 1P BT & Yelledl &
= Sfafohar &1 39 YHR ST ST
2
(A) MR fasm=
(B) vUTHgantas
(C) vt
(D) YT

Q121 YoT H Y A A T &l wemue
e af @ g o
(A) 1932
(B) 1930
(C) 1905
(D) 1924

Q122 JKI®H ‘Bl US WIic SRIoISl’ & oldd
DI 57
(A) ST B Fgar
(B) =f 914l Jgax
(C) Sf S5 dCer
(D) Sf SI.UB. TRR

Q123 TP PIc P o AN &

(A) eI
(B) #f-erat
(OREEIS
(D) HHIS
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Q124 The seed multiplication ratio of

rapeseed, red gram, hybrid maize,
sorghum and jute is:

(A) 1:50

(B) 1:100

(C) 1:60

(D) 1:80

Q125 The leading producer of Muga silk in the

world is:
(A) China
(B) India
(C) USA
(D) Russia

Q126 The value of

11 L4 2.7 1
Cofl —x —of 4 (Lo
AR R A AT

+

2l _1f3 13 ,1)3 11 1l 5
3074 408 6 208 4(2 3

18
277

24
277
o) La
© 103

8
(D) 103

(B)

Q127 The value of

(0.5+0.75)x(2.5-04)+0.125 of 4.8
(0.5-0.30f 0.25-02) +(0.5-03)0f (0.25-0.2)

1S:

(A) 0.002
(B) 0.194
©) 0.149
(D) 0.008

SERIES-KPB-A

33

Q124 YIS, 3R, TRfIS AddbT, wamI 3R
SIE @I &S U T ©
(A) 1:50
(B) 1:100
(C) 1:60
(D) 1:80

Q125 fawq # =717 YeM &1 ol SdESd <0
DI AT B?
(A) A=
(B) 9Rd
(C) 3™RPT
(D) =9

11 4 2.7 1
Lofl—x —of 4 (L1
g s gy

(B)

©) Tm

(D) 103

(0.5+0.75)x(2.5-04)+0.125 o 4.8
Q127 05-030f 0.25-02)+(0.5-03)0/(025-02)

BT HIE T 87
(A) 0.002
(B) 0.194
(©) 0.149
(D) 0.008
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2
132 If -
QU2 I o B Vi5+3v2

Q128 The LCM of three numbers is 300 and

their HCF is 10. If the sum of the
numbers is 100, then the sum of their
squares is:
(A) 1400
(B) 2000
(C) 3800
(D) 6500

Q129 If x> —4x+1=0 then the value of

3
X" ——5 can be:
X

(A) 3043
(B) 26

(©) 83
(D) 52

Q130 One of the factors of 4* —p* 11+3ah

is:

(A) a-b-1

B) a+b-1

©) @*>+b*—ab+a-b+1
D) a*>+b>—ab—a+b+1

Q131 The measure of an angle for which the

measure of its supplement is 4 times the
measure of its complement is:

(A) 45°

(B) 60°

(C) 75°

(D) 20°

73 32

:a+bx/%

then the value of \/g8p— ¢ is:
(A) 3
(B) 4
© 5
(D) 7
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Q128 = AT HT Tgcad FHTIa

(TA I TH.) 300 AT HEH FHGAND
(GaAIU®B.) 10 B | IfC F=AT BT ART
100 &, A9 39D a1 BT ANT FAT BRIT?
(A) 1400
(B) 2000
(C) 3800
(D) 6500

1

Q129 Ifg x*—4x+1=0 g o x3—x—3 T

A T 81 bl 87
(A) 3043
(B) 26

©) 83
(D) 52

QI30 4> —p +1+3ah T UH Uh &

(A) a-b-1
B) a+b-1
©) a*+b*—ab+a-b+1
D) a*>+b*—ab—a+b+1

Q131 BIoT BT AMY, 5THD Y g0d JITRD

BT A9 $HD FAYRSD D AT BT 4 T[T
g, F1 BINTT?

(A) 45°

(B) 60°

(C) 75°

(D) 20°

Q132 af

73 W2
Toeds Tseafs - 4oV

2, Tl 8p—q P A FT BFI?
(A) 3
(B) 4
€) 5
(D) 7
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Q133

The salary of A is 80% more than that of
B. After 1 year, A’s salary is increased
by 20%, and the ratio of A’s salary to
B’s salary becomes 2 : 1. What is the
percentage increase/decrease in the
salary of B?

(A) 8% decrease

(B) 8% increase

(C) 0.8% decrease

(D) 0.8% increase

Q134 Anu marks an article 35% above its cost

Q135

Q136

price. She allows a discount of 20% on
this price. She further decides to give
another discount of 25% and suffers a
loss of I45. What is the cost price of
the article?

(A) 2240

(B) 3244

(C) 2280

(D) 2284

A merchant mixes two varieties, A and
B, of wheat costing ¥30.80 per kg and
%26 per kg, respectively, and sells the
mixture at Jx per kg, thereby making a
profit of 10%. If A and B are mixed in
the ratio of 5 : 7, then the value of x is:
(A) 28

(B) 30

(C) 30.6

(D) 30.8

The average of 15 numbers is 118. The
average of the first 5 numbers is 92, and
that of the next 7 numbers is 120. The
13th number is 14 more than the 14th
number but 13 less than the 15th number.
What is the average of the 13th and 15th
numbers?

(A) 162.6

(B) 162.8

(C) 1635

(D) 163.8
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Q133

A D 99T B D a9 I 80% 18P B |
TP AT & 916, A BT dd9 20% db
JdT 2 AT A3NR B @ I T U
2:18 Om 81 B® a9 # fdbaw
gferera gfg /&4 g8 27

(A) 8% HHI

(B) 8% gf&

(C) 0.8% HHI

(D) 0.8% gfg

Q134 3 Uh ¥ Bl SHD! o A 35%

Q135

Q136

ey 3ifdhd el B | 98 $H DT W)
20% Be ol 81 98 25% B 3R e
o BT 9T BT © TAT S T45 Bl
g IS Uedl & | I BT AT DI
T 27

(A) 3240

(B) 3244

(C) 2280

(D) 3284

UH ORI 4 AR B & g,
& arTd AT 330.80 Ui kg 3R
226 U kg &, ® @A &= fdar qen
A3 g &1 Iy Ul kg W I9T %,
ST S 10% oI BT © | Al AR
B &7 5:7 % 31Urd # fAeimar 97 g,
T x BT A9 FIT BIIT?

(A) 28

(B) 30

(C) 30.6

(D) 30.8

15 T3 BT AT 118 2 | Ul A
XT3N BT AT 92 &, qAT 3Tl AT
el w1 120 ®1 139 A=A 1441
T ¥ 14 (B T Afded 1541 dwm
13 BH T | 1347 3R 1501 GRmRl BT
AT @& 2?

(A) 162.6

(B) 162.8

(C) 163.5

(D) 163.8
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Q137 Pipes X and Y working together can fill

an empty tank in 15 hours. Z is an
emptying pipe. If X, Y and Z together
take 25% more time than what X and Y
together take to fill the empty tank, then
how long will Z alone take to empty the
fully filled tank?

(A) 64 hours

(B) 70 hours

(C) 72 hours

(D) 75 hours

Q138 6 men and 9 women can complete a

piece of work in 10 days, whereas 5 men
and 4 women can complete the same
work in 15 days. How many women
must assist 4 men to complete the same
work in 7 days?

(A) 20

(B) 22

(C) 24

(D) 30

Q139 A circular road surrounding a circular

garden was repaired. The total cost of
the repair was 32,21,760 at the rate of
%10 per m?. If the linear radius is 112 m,
then what is the width of the road?

(A) 14m

(B) 15m

(C) 30m

(D) 28 m

Q140 When (x’ —2x* — px—gq) is divided by

(x> —2x—3), the reminder is (x - 6).
The values of p and q are respectively:
(A) -2 and -6

(B) 2 and -6

(C) -2and 6

(D) 2and 6
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Q137 UisY X 3R Y |rRI—A1I BRI R 8Y

Q138

U Gl Sh Bl 15 B H R AT Z
WToll BY &1 Ulsd g | Ife X AR Y
TART U A1 @lell b DI W_A H
T dTel §HI B g H X, Y 3R Z
TP AT 25% Afed THT o &, a9
DT Z U8 R WX T B Wlell B
¥ foaar w9 @?

(A) 64 %

(B) 70 €¢

(C) 726

(D) 75 ©c

6 JoY R 9 AU b BRI BT 10
f # g1 AR Hahd © Said 5 gy
IR 4 AfAY S B BT 15 e H
IR FH 2 | U B DI 7 AT H @R
P D oY 4 goui BT faeit Afetrali
AR AGQ HRAT AMRY?

(A) 20

(B) 22

(C) 24

(D) 30

Q139 TH MATHR SEAH & ARI 3R, MATHR

ASH DI HRA DI TS | AT D Bel
AT 10 per m? 3 & A 32,21,760
Mg | afe Ygew B 112 m & @
qsdh P drels T BEN?

(A) 14m

(B) 15m

(C) 30m

(D) 28 m

Q140 Td (x* —2x% — px—q) BT (x> —2x-3)

arT fawifsra faear Siram 2, ar Iuwd
(x - 6) BIAT B p 3R q BT AF HAM:
R 77

(A) -23IR -6

(B) 23R -6

(C) 23R 6

(D) 23R 6
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Q141

The selling price of an article is 80% of
its cost price. If the cost price is increased
by 12% and the selling price is increased
by 25%, what will be the percentage
increase/decrease in loss with respect to
the earlier loss?

(A) 9% increase

(B) 18% increase

(C) 20% decrease

(D) 40% decrease

Q142 Inaclass, the ratio of the number of boys

Q143

to that of girls is 2 : 3. The ratio of the
number of students who passed to the
number of those who failed is 5 : 3.
Among boys, the ratio of the number of
those who failed to the number of those
who passed is 3 : 1. What is the ratio of
the number of girls who failed to those
who passed?

(A) 1:5

B) 1:7
(C) 2:7
(D) 2:5

A and B share a piece of land in the ratio
of 3 : 4. Each of them grows rice and
wheat in this land, and the entire land is
covered by rice and wheat in the ratio of
4 : 3. If the ratio of rice to wheat grown
onA’slandis 5 : 3, then what is the ratio
of rice to wheat grown on B’s land?
(A) 15: 14

(B) 16:13

(C) 17:15

(D) 18:17
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Q141

Uh ] BT fdeh Jod IHDB! NI bl
80% 7 | I AR qoa B 12% T
4T qea ®1 25% o1 faar &ran €, ar
U @ BN & dew # ' H fhan
gfaerd gi /®H1 g

(A) 9% gfg

(B) 18% gfg

(C) 20% B

(D) 40% HHI

Q142 TP FefT H TShi 3R TS(BAl B TR

Q143

BT AT 2 : 38| Sl AR Aol
B gTel BTA &1 W& &7 U 5: 3
2| STafdh ST 3R ST B9 arel
DT DI HEAT BT AU 3 : 1 8 | Iiof
3R JIOT B dTell TSl BT AT
T 87
(A) 1:
(B) 1:
) 2:
(D) 2:

DN 9 3 O

AR B3:4% 3UId H U &S Bl
AT B & | IFT 9 Y | Frad SR
g B WAl B 2 AR G IH H =1
IR g B Tl B FBA Bl AU
4:38| MR AD R &1 Y R =rde
3R 8 & &Fhel &I U 5:3 %8, Al
B &1 A # AT fby ST arel =1l 3R
g BT U FIT B2

(A) 15 14

(B) 16: 13

) 17:15

(D) 18: 17
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Q144 A farmer took a loan from a finance

company for buying fertilisers, which
had to be repaid in two equal annual
instalments each of 35,512.50. If the
rate of interest was 5% p.a.,
compounded yearly, then the total
interest paid by the farmer was:

(A) 664

(B) %775

(C) %780

(D) 2810

1
Q145 A mancanrow 77 km downstream and

2
5 km upstream in 1 hour. He can row

1
225km downstream and 20 km

upstream in 35 hours. He will row a

3
distance of 18 Z km in still water in:

(A) 1 hour

1

(B) IZ hours
1

©) 15 hours

3
(D) 1 1 hours
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Q144 T& fHaM o SR & wWRIg b folv

e fad sy 9 wor forar, R
Z5,512.50 ®I &7 S_16R A el #

PR S 8| A e &R die
3R WR =Ihglad 5% Uiiay 8, al fdam
TART YA Tham 1 |t ot fae=r
87

(A) 664

(B) %775

(C) 780

(D) %810

wwﬁﬂla%ﬁmzﬁwa7%km
g yarg & fawid 5 km AlbT TT

W%‘la‘s’séa%ﬁmzﬁwu
22%kma‘mmfﬁfﬁq®620km:ﬁ‘cm

. .3
AT FhdT © | I8 Md Ul d 18— km

B 0 o w1g 7 g8 Fm? ’
(A) 182
(B) 1%*&%
(®) 1%%1%
(D) 1%8%
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Q146 Places A and B are 105 km apart on a

highway. Two cars start simultaneously
from A and B. If they move in the same

1
direction, they meet after 105 hours,

but if they move in opposite directions,

1
they meet after 1 = hours. The speed of

2
the faster car is more than that of the
other car by:
(A) 20%
(B) 28%

2
(©) 303%

1
(D) 333 %

Q147 The perimeter of a triangular park is

540 m, and its sides are in the ratio of
25 : 17 : 12. If the area of the park is
equal to the area of a square field, then
what will be the perimeter of the square
field?

(A) 120,/ m

(B) 125,/ m

(C) 120/10 m

(D) 125./10 m
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Q146 TP ISTHRT TR WIF A 3R B 105 km

P I R B | & BR TP AT AR B
| XA By 21 afe 9 U B feww #

aﬁ%eﬁalo%aéa%mﬁaﬁr%
St R ¥ Rl Rl # ot &
aﬁ%a‘ézﬁmﬁaﬁr%ﬁaw

DI TR 3 DR B Joam H el
s 87
(A) 20%
(B) 28%

2
(©) 303%

1
(D) 333%

Q147 & oy urd &1 R 540 m 2

TAT SHDI OITG 25: 17 : 12 U
H 2| I Ut BT &AB ITBR HaTH

@ A% B IR 7, Al TNMHR HEH
DI IR Fam BAT?

(A) 120./g m

(B) 125./g m

(C) 12010 m

(D) 12510 m
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Q148 A hemispherical tank full of water is
being emptied by a pipe at the rate of

3 = litres per second. How much time

will it take to empty the tank if the
diameter of the tank is 3 m?

(A) 30 minutes

(B) 33 minutes

(C) 35 minutes

(D) 40 minutes

Q149 In AABC, /A =120° and AD | BC
at D. IfAB + BD =CD, then the measure
of /(C is:

(A) 18°
(B) 20°
(C) 25°
(D) 30°

Q150 In AABC, X and Y are the mid-points
of sides AC and BC, respectively. If the
area of ACXY = x and the area of
quadrilateral AXYB =y, then:

(A) y=+8x
(B) y=4x
©) y=2x
(D) y=3x
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Q148 T FEIICIPR U | R §IAT S U

4 .
g FART 3 SR gf Fdhs Bl aX

A el fhan S 2 | Aafe <& &1 A
3m B O &b B Wiell Ho H fhar
AT TRT?
(A) 30 e
(B) 33 fime
(C) 35 e
(D) 40 e

Q149 AABCH, ,A=120°,D W AD L
BC 2| ¢ AB+BD=CD,dd ZC &I
AT T EETT?
(A) 18°
(B) 20°
(C) 25°
(D) 30°

Q150 AABC ¥, X 3R Y %#: Yuiiy AC
3R BC & #e fag & | AfTACXY a1
S = x TAT Ao AXYB BT &Fhe
=y g, d9
(A) y=+8x
(B) y=4x
©) y=2x
(D) y=3x
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General Hindi / 9= f8<)

PSG1 Mg 3R T & @il ¥ 89 ART

Q151

Q152

Siae @ Y&d & | 9ed Rremri |
gl dr urd Bl B fbeg a' et
BIT © | TfcAd TR a1 89 3fU+T 3R
B TS BT B BAR ST HROT H
T BT WRIR 3R G BT G
|ad faguE Redm 1 ¥ ARl AR
(AT BT 98 HSRER © S8l BARI
JFTPBROT AT db B |Hl ITal 3R
Tl BT HUET PR Y@ 2 | I8
98 A IR TR T TE AMUBT
MBS W B | g9 faena dug
H W fedsd 3 BT UTe HRAT &l
3 SN feum # feRa e
qET A DI FO R @ forg W@, Rer
IR IS PR IR v BT fAcer
IR fF T8 e U8 # 9 ToRIEAD
rEi—STPf &1 fier w7 amue forg
e & IFHIT I Al fdbrel B
TR | fARGR 31U JTT:HROT BT JaT 3T
o MY IR IR—IR I8 B MUYDT
3D 3T AR SIF—hfT I ARMER
PR TIT, JMIPT gaT W Fa] AT |

SWRIGT AT BT &1 H ufey iR
SUgd ¥ideh Bl T BITT:

(A) IS & G

(B) 3=THT — ITET BT HSRER

(C) 3T+

(D) 3T=<THA DI 3fad

SWRIGT AT BT &9 A Ufgu 3R
SUYdd SR BT I BIFTY?

PEGE

T ¥ IS 3THE & fAerar 27

(A) IHT |FHEIAT © fdh & IS
a1 q |

(B) 3THT AGRIHAGT HI AT
ABRIADBAT AT DI AT BN
T © R anfoass amee et
=

(C) 3THT # dadl I AT FUBId
& B, S8 Bl aro R <l B |

(D) I=THT T 3 B BT 2 |
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Q153 IWIGT TEAT BT LAYdd Uy 31

SRCIRCIERINNECRIF

(A) ST9 3rTHE dI ufafes ond, Rer
3IR ger ve+ Bl (Fawr Merr & ar
98 U IMMHN by THIER
Heh Bl IRE HT DI AR THRIHD
Tfafaferdl o1 gerdr Sar g SiR
3re6] IR Feaa STl Pl yaTad
BT NIl B A Wi BM W
3HE T 9d BN AT & AR
-4 I8 A WG g 8
ISR

(B) 19 31+ I ufafed wia, Rer
3IR ger Re+ Bl fFawr Merr & ar
g T JATDPNI b=y THSIER
HIPH BT A8 A H A 4R <l
gl

(C) 3ra¥d &I fcer fAeq | 79 orid
1 Ol & iR AHE &I 31gHa
B ST 2 |

(D) 3= ¥ 9gd wfed exf 81 a8
gAR e 79 & R 3R
BCT PR 310 faaRi | WR a1 2|
ey it fierh 2 |
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Q154 919 79 & B <X B fov 3id, Rer
3R TTRIEN BINTY 3R 1 BT e
RTT {6 I8 U+ GUE § | ThRIHD
J1el —erfl @l fier &% smus forw
T ® A Fed "Il dral R
Y|
SWRIG AT BT H[Yddh dfey 31R

ifehel 3797 1 UGS AR BT YT
PIfTU:
(A) SEY A9 AT 4§ B <1 © al
I IS AT BT AT B < ©
3R e fAerdr g
(B) dTEg A & BN 3G Ica+T
B ST B AR T BT i
BT B |
(C) 19 1Y A9 e 8lh 2d

BIaT § 3R g9 ufdhar @t ufafed

JIRIgIA Bl & ol S eiv—

R 39 Rerdr siR wifa &f emed

H gqol T & 3R or<Rd # fafea

AHRIHD ol JaTed B9 T

2| o o SUe-—gUa iR

THRIHBIT TA BF A A9 Bl

vIfaT ettt & 8iR e+ srFifed

3R sl XE oIl € |

9 9TEg A9 RIS g6 9d

81 ST & ol 3=ad gR—¢R 39

Rerar iR =iy &I =T <t ®

IR I & SUT—grdd FA

B9 | A9 ®I i e 8 iR

3ITHA STl 3IR et I8+ STl

=l

(D)

Q155 =1 & B9 A1 BRI uF F8t /7
(A) AT =
(B) wa—fasifiq
(C) HUed @& 9™ Ux
(D) ¥=0T U=

Q156 ‘ufr’ Syt &Y wr # fha Wy &
ImaT 87
(A) B
(B) w¥pd
(C) 3fsl
(D) B
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Q157 RAR’ &1 ‘T’ I= &
(A) TR
(B) #TR
(© AR
(D) RIRFR

Q158 IR’ v foha facel wmor & ema
g7
(A) gar
(B) ¥
(C) SIur
(D) 3REl

Q159 &1 M1 ¥nfa d& Ugd Y&d g1’ 39
IR | qdd’ R DI Haearrd
27
(A) fovfdas
(B) fafdfaas
(C) #ifer®s
(D) diffrd

Q160 =ifhd § | B AT I HSeAl’ BT
g 77
(A) =Yetl
(B) araffer
(C) arfey
(D) =¥

Q161 S Teg HIF AT HAAM &2
(A) regg ara®
(B) M1 ara®
(C) HeY g
(D) 9§ drdad

Q162 &4 arg fohar & 9 fau &7 ®ed @
o fohar o1 ucher Teg oH I Bidr
& 3IR fohar ¥ wuiR @ ITAR
BIaT T
(A) i
(B) @4
(C) w9
(D) %4 3R 9@
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Q163 I\ Y3 Byl “HA oSl UPp A
ST B 17 S arreny d fha favm
fRrest @1 & a1 e 77
(A) ©7
B) “”
© ,
D) -

Q164 HeBR ATIAT AR BT Iferd 37ef
gfg?
(A) 37T & S8 PR &l
(B) =gf BT MMM WR YA~ BT
(C) =F & Ryl Per
(D) ST art IS

Q165 fFHl I%] BT FIER H AT SHPI
e fohd g & B7
(A) ST
(B) gy
(C) W
(D) U

Q166 F=feRad # & foha vreg § WR—aA
el argfg el 27
(A) STRIS
(B) swrg
(C) ol
(D) 3NggH

Q167 SN S Fad UT BT &
(A) HTS F aRs 3l
(B) aR® ¥ BT Bl
(C) i 3R A
(D) fdaTd ©U ¥ IS A HS PI

Q168 4 # | BIF AT IE TR BT IHTHRT
T8l 77
(A) wd
(B) &4

(C) wga
(D) gfaw
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Q169 : + ®wuc’ f=falRad # 9 fha G
BT NG 87
(A) B W
(B) fawt <fa
(©) g
(D) gig W

Q170 fSRF FH H Yg—ug 0T FoIT IwR—Ug
ITE 8, S D9 A7 TH HEd 82
(A) Ta< I9E
(B) dgdife @94
(©) o
(D) TqYeY A

Q171 S ¥ell, A 3MMfe TTeal | FSHR Y
Ieq] B T BRI B, T DI H U
FHEA B7
(A) dfgd g
(B) Py
(C) Tpd Uy
(D) 3 Y&

Q172 TfYy &1 ‘dga’ I=s
(A) s
(B) s
(C) gt
(D) et

Q173 ST \d=TH sl oeat & Al & a9 &,
SE
A) fIerr |ad=m
(B) fd®mRT |Aa-™
(C) gaT AT

(D) AH=IATdd: A

Q174 a1 form & Farferd ®MUR &1 Hal
Hdl Bl BIgh HH T Tedl 8, S0
D AT fohar dwEd 87
(A) 3HH® fhar
(B) \HHSB fohan
(C) famHd forar
(D) RS foar
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Q175 WFMIa & AR ‘B! ek DIA—AT
fomafears 27
(A) A
(B) TIdTaA
(C) raprR
(D) fo=g

Q176 ‘¥ a7 R T | BT — W' IR
DI AT I B?
(A) fremfeaes
(B) HdudrRI®
(C) fourd
(D) FaoTH

Q177 FoOU' & [AWRIARIE A= BT =TT BTG
(A) faqer
(B) fagem
(©) e
(D) &M

Q178 S8l ‘U’ T AR Gl AT hIed
BIp) e #I 91 diaT § a8l e
3N
(A) I TR AU G HEd Al
(B) Mm@t & 1T ST
(C) SIR—SIR ¥ 3T

(D) BRI Ych—Ucdh X [l

Q179 f=feRad wr&l # | ®IF A1 e
RESCICIIS
(A) <d
(B) <l
(C) <d
(D) <adr

Q180 R BRI H oRg ¥ At H HiF AT
TR 2°?
(A) HH
(B) STUTEH
(C) 3T
(D) FwE
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Q181 frar & 591 wu ¥ fobar fwaeq @
TG HI FE 8, SH dEd o
(A) UeT
(B) @ret
(C) adret
(D) dr

QI82 II ¥ YWY V@I H WRER AHGH
Pl HEd o
(A) TEHH
(B) 33
(C) ST
(D) faera

Q183 el vroiufaa arfererdt 1 fergfa,
qeI=d, ATHE—WIHid AR ITd
TRATIARTT DI FAAT DI ST H UBIIT
IR B ol 69 o3 &1 wanT fdHan
ST 8?

(A) 9Ru=

(B) AR

(C) Sfereger

(D) @RI Hfa—ux

Q184 71 H {4 DI AT I=E T IR SR
@ IR W A BT BT T8l 87
(A) e
(B) uIf¥d®
(C) Iy
(D) &

Q185 R Rl & IR § & A1 BT 9
ST 8 AT & W QAT 9 oIl &,
SECIICTN
(A) T ¥R
(B) T¥ ¥R
(€) T IR
(D) &g ¥R
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Q186 T &G e & SwRY & T
TR—T § BT BIAT &, STRIT AH
P IR W g al & BT H SHBT
T I 87
(A) T
(B) I
(C) PlhcT
(D) 3

Q187 df—fazog # afe fd o & ‘"o
il W DY RS avf g, A
e R T, v avf & I W)
S I BT B AT Ul BT SIYT?
(A) S T BT g qof
(B) ST O T SrARIS AT v=H

qof

(C) S o 1 agel gof
(D) ST a7 BTy guf

Q188 eaf & IFIHRU & ABR W Sl e
T 81 1Y 8 3R foreas! FedfaT o=t
2, U &l Bl RIT el Sl 87
(A) dHH T
(B) <O W=
(C) facerst wrea
(D) WiPpd e

Q189 KT & AR W Fel & fha Ha
g 87
(A)
(B)
(C) drd
(D) ®:

Q190 FAMIRGROT fheT /e &7 A 77
(A) FHaIdES
(B) forar—faeryor
(C) Hdudrrd
(D) fowrnfedes
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Q191 ‘gH ufafes wWers &
Sugdad qreg H yfafed i A
forar—faeor &7
(A) U1 e fohar—faRryor
(B) uRAmErEd fohar—faReo
(C) @rerarad foman—fagmor
(D) Iarad fohar—fagyor

Q192 A3 # Hag' &I 31 oief 74 H
BT 3t &
(A) 79 H 1% P Reafa
(B) ®® afed 8F & feed &1 Rfa
(C) e 31 Reafa
(D) dr<fadar & forg sifage o1
Rerfay

Q193 ‘T AT AT T BT T ST TR
& oIy SUYAT o BT T DITOT:
(A) IEHR
(B) URSPR
(C) TTREPR
(D) WUBR

Q194 ‘HA—H' e FH B el AHF—AT BT
I BT
(A) G
(B) d—{hART
(C) foIRT—agr
(D) F&g—q9r

Q195 Yoy = HgAMI 4 A & Udh Al Bl
ST 3R B W AN BT SR,
SUGEd A& DI TIT DI |
(A) <
(B) TIYRIIOT
(C) 3rfamT
(D) <vs

Q196 fr=ifeiRaa H I 1 ¥rea Yfoat 87
(A) <D
(B) ¥
(C) auf
(D) R
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Q197 ‘I8 W BT BR ST | a1 H gicdT T
31el BT P AT 9E 87
(A) aeTaeTet
(B) forgeramef
(C) Hdaref
(D) faeuef

Q198 ‘g8 W §91aT 2 | a1 H I AT Ul
27
(A) rgfciqels
(B) SIAIURD
(C) Rercars®
(D) 9of Tel

Q199 5T area § <1 a1 |1 9 3MfdF @A
IUATRI B 3R ATdl AR IS &, I8
PHETAl &7
(A) SUdIE
(B) Mfa araa
(C) |IF aH
(D) & a1

Q200 ‘FH TS AT B | 5 a4 H B Al
ngfe 27
(A) FIH e i
(B) BR& el Ylg
(C) TTRI—TANT el gl
(D) gy Heell argfeg
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Read the following Instructions carefully :

fFrfoRea el & <99 9 U

1. Out of the four alternatives for each question, only
one circle for the correct answer is to be darkened
completely with Black Ball Point Pen on the OMR
Answer Sheet. The answer once marked is not liable
to be changed

. The candidates should ensure that the Answer Sheet
is not folded. Do not make any stray marks on the
Answer Sheet. Do not write your Roll No. anywhere
else except in the specified space in the Answer Sheet.

. Handle the Test Booklet and Answer Sheet with care,
as under no circumstances (except for discrepancy

in Test Booklet), another set will be provided.

. The candidates will write the correct Test Booklet
Series as given in the Test Booklet in the Attendance
Sheet.

. Each candidate must show on demand his / her Admit

Card to the Invigilator

No candidate, without special permission of the

Superintendent or Invigilator, should leave his / her

seat.

. The candidates should not leave the Examination Hall
without handing over their Answer Sheet to the
Invigilator on duty. Cases where a candidate has not
signed on the Attendance Sheet will be deemed not
to have handed over the Answer Sheet and dealt with
as an unfair means case.

. Use of Pencil/Electronic/Manual Calculator is
prohibited.

. The candidates are governed by all Rules and
Regulations of the Commission with regard to their
conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and
Regulations of the Commission.

10.After Examination is over, candidate has to return

his Answer Sheet to invigilator. Invigilator will hand
over the Candidate’s copy to candidate, then only
candidate is allowed to leave the examination hall.
Candidate is only allowed to take Candidate’s copy
of answer sheet.

11. Candidates are not allowed to take Test Booklet with

them. They have to submit the Test Booklet to the

Invigilator after the exam.

1. 9® 9o B forv Ay M AR fadedi § 9
AE IR B ol 2l TH. IR, IR T3 W
®acl U el Bl 81 YUl T8 Plel giel Ulse
U7 | M| U IR S<R 3ifhd fby o9 &
98 I I el S Fahell © |

el GRRFd o @1 TR T BT AT A
SU Td S R PIg 3 R T e |
oRrEell 37U JfghHIe SR UF W EiRd
g & sifaRad s 7 ford |

. IRIETT GRABT UF IR U BT LTYddh YANT
N, qife fHr ff aRRefy # (@aer oer
gRAIRT H B BT BIS BY) T IRIETT JRAD!

Ud SR UF ST T8l BRI SIe |
e gRaeT H & T wRie gRA D1 HRIS
B Riemdl HEl T I BIoRI—u H ford |

I8 S O G qRIerefl, det raied Pl
37T Yo U g |

refleTeh AT el RIeTd DI A=Y AT &
o o1 wermeft e I 9 IS |

HRINT HeT 3TNIeTd bl T SR 99 U
o wRiemef orger e g ©isd | e
forxft aRlemef 7 BIRN—3 IR ExdeR 78l
fpU O I8 7M1 S0 BY IHA SR T TRl
ST & 3R Ig SFferd A& &1 Al
HET SITQT |

UIe / Solagivd / BXdiield UREeld Bl
ST IR B |

e Bfc | SR & forg uRiermef T
o ) et v fafEt gRr fefia g
& fradl vd fafaHl & orgar &R |

10.TR0ET & SURTT I SR TP el JIRIETH
BT el ¢ | 3NeTh gIRT 3Nyl &l IR
TAd DI NIl Uit BT RIS SITTHT eI
ST ST &1 HeT BT BIsA @ IrAfa &
SITUfY | SR U= ) 3ngeft ufa anefi &1
3O AT o S @ SIART B |

1. & IWId Weefl 1w g
PeT AINED DI ACTH BT | TRIeA GReTapT
BT et U AT T o O Wbl © |
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Ans

QNO
161
162
163
164

166
167

168
169
170
171
172
173

174
175
176
177
178
i79
180
181

182
183
184

185
186
187

188
189
_ e

191

192
193

194
195
196

198
199
200

q%;?gﬁ?ég-aé‘?@\%

Ans

Fuli Marks

A
A

Qa NO
121
122
123
124
125
126
127
128

129
130
131

132
133

134
135
136
137
138
138

140
141

142
143

144
145

146
147

148
149

150
151
152
153

154
155

156

198

139

160

Ans

Full Marks

Q nNOD

81

&2

83
84
g5

&6
87

88
&9

50
91

g2

23

94
55

26
97
S8
99

100
101
102
103

104
105
106
107

108
109
110
111
112
113

114
115
116
117
118
119
120

Ans

@ @

QNG

41

42

43

44

45

46

47

48

49

50

51|

52

53

54
55

56

57
58
58

60

61

62

65

66

67

68
60

70

71

72

73
74
75
76
77

78
79

80

Ans

Full Marks

Q NO

10
11
12
13

14

15
16
17
18
195

20
21
22
23
24
25
26
27

28
29

30
31
32
33
34

35

36

37

38

38

40
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Frgma de: 3w flen 72018
YA U TR it )26-5-2019
TR UeW ey Sar Tad N, dETS
sty Y war (a+f-3) wifafie weras yu-«df (@ 999 wianifmers wien - 2018
Examination Date 19™ February 2019
Shift - 1| 19-Feb-19| Test Booklet Set — BD
Q NO Ans QA NO Ans QNO Ans Q NO Ans O NG Ans

1 D 41 C 81 B 121 8 161 B
2 C 42 c 82 C 122 c 162 C
3 D a3 B 83 B 123 ) 163 B
4 I 4 | D 84 C 124 C 164 B
3 B | 4s B 85 C 125 B 165 B

6 A a6 C 86 A 126 B 166 A |
7 D 47 A 87 c 127 D 167 C
3 8 43 C 88 c 128 A 168 D
g B 49 D 89 B 129 A 169 A
10 D 50 B 90 B 130 B 170 )
11 B 51 B 91 C 131 D 171 C
12 8 52 D 92 C 132 C 172 D
13 A 53 D 93 A 133 B 173 B
14 B 54 D 94 B 134 D 174 A
15 C 55 C 95 B 135 B 175 c
16 B 56 A 96 A 136 B 176 D
17 D 57 D 97 B 137 D 177 A
18 Full Marks 58 A ag D 138 B 178 B
19 c 59 D 99 C 139 A 179 A

20 c 60 A 100 | A 140 C 180 ¢ |
21 C 61 A 101 B 141 D 181 D
22 8 62 B 102 3 142 A 182 B
23 A 63 B 103 C 143 D 183 B
24 B 64 B 104 B 144 C 184 A
25 B 65 C 105 C 145 B 185 C
26 c 66 B 106 A 146 ;A 186 D
27 C 67 B 107 | Full Marks| 147 C 187 c
28 A 68 | C 108 B 148 A 183 B
29 B 69 A 109 C 149 B 189 C

30 D 70 A 110 B 150 C 190 c
31 A 71 D 111 i Full Marks| 151 B 191 C
32 C 72 A 112 D 152 C 192 C
33 C 73 D 113 C 153 8 193 B
34 D 74 C 114 D 154 A 194 D
35 B 75 B 115 B 155 C 195 B
36 B 76 8 116 D 156 C 196 D
37 A 77 | B 117 D 157 B 197 A
38 C 78 C 118 D 158 B 198 A
39 B 79 C 119 B 159 C 199 C
40 D 80 | D 120 C 160 ¢ 200 B
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srehrey S dar @f-3) Rl werae gu-dY (ararg woe) wadlRdaes wiian - 2018

Examination Date 19™ Febrdary 2019

Shift - 1| 19-Feb-19| Test Booklet Set — BE

Ans

C

aQNOo

161
162
163
164

165
166
167
168
169

170
171
172
173
174
175
176
177
178
179

180
181
| L2
183

184
185
136

187

188
189

190
191

192
193

.
195
196

197
198
199
200

Ans

B

Full Marks

Q NQ

121

122
123
124
125
126

127 -
128
129
130
131

132
133
. .134

135
136

137
138

139
140
141
142

143 -
144

145
146
147
148
149

150
T 1 S 1

152
153
154
155

156
157
158
159

160

Ans

Full Marks

QA NO
81
82

83

84
85
86

87
. B8

89
90
91
92

93

94
95

96

97

88

99

100
101
102
103
104
105
106
107
08
105
110
111
112
113
114
115
116
117
118
119
120

Ans

QNO

41

42

43

44

45

46

el

48

49

50

51

5 2 ERp—

53

54
55

56
57
58
59
60
61

62

63
64
65
b6
67

68
69
70

71
72
73
74
75
76
77
78
79

80

Ans

Full pMarks

C

B

QNO

10
11
12

13

14
15
16
17

18 o

19
20

21

22

23

24
25
26
2

28

29

30
31

32

33

34
35

36
37
38
39
40
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£xamination Date 19™ february 2019

Shift - 1| 19-Feb-19| Test Booklet Set — BF

" i
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fasmo= W& 3w /2018
TF: AN I9 el |29-6-2019
IR W AR T AU HTURT, A,
ey i Jar @i.-3) wriafis gens Ju-«d (@ 999) Wi altem - 2018
Examination Date 19" February 2019
Shift - 1| 19-Feb-19] Test Booklet Set — BG
NO Ans Q NO Ans Q NO Ansg Q NO Ans Q NO Ans
1 D 41 D 81 c 121 D 161 A
2 |FullMarks | 42 B 82 A 122 A 162 | B
_____ 3 | ¢ | a4 B | 83 0 123 D 163 A
' c 44 D 84 A 124 c 164 C
5 c 45 B 85 D 125 B 165 D
6 B 46 B 86 A 126 A 166 B
7 A 47 A 87 A 127 c 167 8
8 B 48 B 88 B 128 A 168 A
9 e 49 C 89 B 129 B 169 c
10 c 50 B 90 B 130 C 170 D
1t C 51 B 91 c 131 B 171 c
12 A 52 8 92 B 132 B 172 B
13 B 53 B 93 B, 133 c 173 C
14 D 54 C 94 c 124 B 174 C
15 A 55 c | o5 A 125 c 175 | ¢
16 C 56 D 36 A 136 A 176 c
17 C 57 B 87 D 137 | Full Marks| 177 B
18 D 58 C 98 A 138 B 178 D
19 B 59 B 99 D 139 c 179 B
20 B 60 C 100 C 140 B 180 D
21 A 61 C 101 B 141 [ Ful Marks| 181 A
22 C 62 A 102 c 142 p | 182 A
23 B 63 c | 103 D 143 C 183 c
24 D 64 c 104 c 144 D 184 B
25 C 65 B 105 B 145 B 185 B
26 c 66 B 106 B 146 D 186 c
27 B 67 c 107. D 147 D 187 B
28 D 68 C 108 A | 148 D 188 A
29 B 69 | A 109 A | 148 B 189 c
_____ 30 c 70 B 110 B 150 C 190 c
31 A 71 B 111 D 151 C 191 | B
32 C 72 A | 112 c 152 D 192 | B
33 D 73 B | 113 B 153 A 193 c
34 B 74 D 114 D 154 D 194 C
35 D 75 C 115 B | 155 c 195 B
36 c 76 | A 116 B 156 ) 196 c
37 D 77 B 117 D 157 8 197 | B
_______ 38 c 78 D 118 B 158 A 198 B
39 B 73 D 119 A 159 C 195 B
40 A 80 D 120 C 160 | D 200 A
|2 99, 067 1
e fra _
oo wfrmy da WY HPET

BEEH
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Togra= "am: 3w dian f2018]
7 WA I9% Foll | 29-6-2019]
TR WS L=y AT IO 191, ST
TR ST a1 (T-3) wifa e wamae qu-<W (g 9g=) vt oer - 2018
Examination Date 19" February 2019
Shift - 1| 19-Feb-19] Test Booklet Set — BH
QNO Ans Q NO Ans Q NO Ans QNO Ans O NOQ Ans

1 B 41 B 81 D 121 B 161 B
2 B 42 c 82 A 122 A 162 A
3 C 43 B 23 A 123 C 163 C
4 C 44 D g4 B 124 A 164 D
5 A 45 | Full Marks] 85 B 125 B 165 C
6 B 46 C 86 B 126 C 166 | . B8
7 D 47 C 87 c 127 B 167 c
8 A 48 C 38 B 128 B 168 C
9 C 49 B 89 B 129 c 169 <
10 C 50 A 90 C 130 B 170 C

11 D 58 1 C 91 A 131 c 171 B |
12 B 52 D .92 A 132 A 172 | D
13 B 53 B 93 D 133 | Full Marks| 173 B
14 A 54 C 94 A 134 B 174 D
15 cC ! 5§ B 95 D 135 C 175 A
16 B 56 I 96 I 136 B 176 A

17 D 57 c 97 B 137 | Full Marks] 177 c |

18 I 58 A 38 B 138 D 178 B |
19 c 59 C 99 B 139 C 179 B
20 B &0 C 100 C 140 D 180 c
21 o 61 B 101 B 141 B 181 B
22 B 62 B 102 B 142 D 182 A
23 C 63 C 103 D 143 D 183 c
24 A 64 c 104 A 144 D 184 c
25 C 65 A 105 A 145 B 185 5
26 D 66 B 106 B 146 c 186 B
27 B 57 B 107 D 147 B 187 C

28 D 68 A 108 C 148 C 188 c |
29 C g9 B 109 B 148 ) 189 B
30 D 70 D 110 D 150 c 190 c
31 C 71 c 111 B 151 B 191 B
32 B 72 A 112 B 152 A 192 B
33 A 73 B 113 D 153 C 193 B
34 D 74 D 114 B 154 D 194 A
35 B 75 D 115 A 155 A 195 c
36 3 76 D 116 C 156 B 196 D
37 D 77 C 117 D 157 A 197 A
38 B 78 A 118 A 158 C 198 D
3g B 79 D 119 0 159 D 199 C
40 A 80 A 120 C 160 B 200 D
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